
USOI, U bU"
QtuLgt

U. U/41hunfututt

ocnuunuh 2020 B.

auu)t'ntuNIl

9hrlurtr urnu:p\u1|r
9LrJurl:

&hE

2*+h
rlfru{npp uhuqnpfr qhLp Pruhur\1

9mrftupp (hurq.

22 4prurl)

$2utrslr! \nap
puu CPV ruhrlurhnrrlp

441,5,33141 129 2lztIuQ :UA hwn 80( 50 40,(I8I I 1 100 Upnu4ltuQ uh humtQ hugntuu UU hun 5 500 40 220,0(
181 I I 100 Up n u41t u 11 u tt h u tnn il1 h u qn u u UU

fr
huu t tuu 10 55,00

301 92121 epi2 qtu1hQu(nV hun 6t 200 12,A
301 92131 Utlu u Ig 11 u 11 u lt 11.,t 11, 4r4,t..1r.ifi UU huu 6L ta J,U
30197235 Iltyou tq u Itu 11 u ttlz u ln ( UA hwn 200 84,(
301 9941 0 FItp It u l142n ilt pn uya A 4 UU hwn )) 500 z/,)

aluuuuut uL!

n
0,0t

I
4415(

4Uputdllt t4bu U. Llllnrytlt

Vunupn1 U. U4nlwtt



.f.

"2utluuwit:blt nu4fnhu4np4lt2 gwltg'

OF

onantu,IUA AI
2020 p. -rt h JzV nt 11 w It wgrtn4

4l wu (Jtpwua ilt' .2wl ia u uuhfi h hnauntttuhu wllttt It

' aFwqlrpT' 2hnnLuuwuhauryfih b nut4lnhw4np4Jt2 gwhglt

Uhtlwtnttlp' 2020 p. ghntdlthplt ttllwtt

$|huttruwtlapttult w417nry4' UVn up1nryh /2ltl1 hpntpTuh dfi2nghhpdtl/

$hr.kah unutpllutfli

4htIwh
AItp

2w01,
,I]r-{opZ

Ululnplz qlrt'p Pwltwllp
9nulutpp

(hwq.224pwil)

tllt2utttg]rU

tpIE'Eun
quu

4utuwllwlq-
dwtt

uthtluthnttlp

61 42

0910@M 4unhlltP
32 700,0(

09132200 ehhghh, nbqnUJup thup 42( 63 0U

09132100 chlnhlt, qnh[hnuI thnp 444 5 000 2 2U,00

09134200 llzqhFiITlt 4,t-htJrp
q2 fi-p 44( 9 000 3 960,00

09131 100 Uiltwglnh Uhpnulrl)
a 400 0u 0,2 80,00

092N0&) Lwrtp, wtn{u It hgttlPwtlPhPP

0921 1630 Zull ut Qnnn qlzn lt p t4 bp UU tlt-1, 100( 100

0921 1631 ZwQulnnnqlzntt pt4hp UU tl-p 100( 100

0921 I I I0 Cwpdltsftpqbp UA he 80(, 2

228Mtu0 tfuiph hwt[ nntlunutpqpl" hnuhgttttlatuluthhbp, hu2tluntlwh qlzptp, wpugwlarylthz, lltuPwhF lt 35,04

2281 I 110 s.wvlwntuh qpphp UU hutu 650 20 13,U

2281 I r10 2wVlunlwlt qppLlt UU hwn I 100 20 22,0(

22,41(WW LuiluLuhhobhn. thbhn' pnpunnutdLhn, rwdhhuntuhp, lntlhpgfnh tlwg4ullzlt ltl"'p!44-ttE!!E!- 39,95

2245124t) 4ltwwltuthlttn UU hutn 121 200 24,0(.

22451240 4Lwuhutltlthn ftlf htuu 5Jt) )o 11 A\

3490@W guth uo afi un uhuqanwutlhlr uutpptp b uluh huu utuubp 20,20

34921220 Uh {n ut h qn tplut h wpqtpulutn h h2lt Lp UU hutu 2 006 5 10,00

34921440 rrnrhnhhhnh lt tnnnh tnntnnthhn h mnutwlltthn UU hwu Z J)L 10,20

393,94
44500Un h h7, urlpwghn4 +h-.t& h|r,2rlP.!!! !-luqthtl htF-

44521 I 70 Unaqhphhp hutu I 50( 11 16,51

44521200 UnaqhpLhplz thauhp /+nwh UU hwn 124 3 3,64

4U511100 2bnph qnpbhphhp UU huu 3 501 7,04

4451 I 700 ZwpBu2ntPP UU httu 2 800 t 5,6(

4451 1330 't)untnulluhutltltbV utf hwu 13 500 I t3,5(

hwu t0M T 10.0(
4451 I 100 2hnplt qnptltphhp UU

445117U 4wppu2nryP UU hwn 6 00( I 6,4

4451 r r00 2hnpi qrp\llpllhp UU hun 22U 4,4(

4451 I 140 €1niltqhhp qu hutm 4 204 I 4,2(

4451 I I 70 angfuLp UU huu 3004 ) 6,04

44531 130 '0unLnullwgwtI UU hwm IA 250 2.50

44s31100 Swpntpwllwlnp wtlpwgln4 4tnwllt hp UU hwu 30 0.45

44531 100 '\)uvnLp utll w{ry2 utlpwgln4 4t nu Llt hF UU hwu 30 0.0t

44531220 Swfio4utlllthp UU hwu 60 0.3(

414531130 4)untuutlluqu[ UU hutu 1A 4,24

44531130 4)untnutllutqutl UU hwu )U 42 2,1t,

44531250 8n hl h wtn ustuttt 4 h uq It hP UU hun 800 40 32,0[

4451 1220 9 wpun L un lJ d hnplt qnptltP tt tP UU hutu 121 0U 242,U

4451 1220 gwpwwhuu! Ahnplt qnpbllpttbp /qhn puqm/ UU huu 6 00( I2,U

4451 1220 Swp utntuut! dtnp| qnpt]P|rhp /PtI/ UU hwu 4 00( 8,0(

4451 1190 Vugrttrhhp UU hwu 35U 7,4

4451 I 1 10 cwhhp UU hun 3 254 6,54

442000N Vunnuohtnh hhu llwtgtlutt wpuw4ltw hp 2 11,7M

44221141 'Inuhfonull UU hutu 70{ 11 7.7(

44221 1 71 lnt hpf hwtlutp u uhtwttwrlt uQnullt hP UU hwu JU I 4,4

SIINOOO antnlhthhn n Lhlmnnnnnhhn It thnfuailttnwhtfuEn
339,50

IlhntsIw h w4plntph Lplt fufu tttQ hpql2lt hp UU hwn 32N IO 32,061 31171400

3I 171400 (.IIn tgtutt uqPlnrytttbql bnfu wll hpufi2h hF UU hun 8U 10 8,0(

31 171400 U|nrytwlt uty:1n ry h bplt fulu ut Q hP qfu tr bp UU hun /tt o 4,5(

I



31 151 120 U[tJuwtlzwtt ulnLgtult utylnrylthp /FM UU huu 10 000 T) t50,0('

3I 151120 Uhfuwrlult ultnLgrlutt urylnLpttbp /0- UU huu 90 000 I 90,00

31 151 I 70 Uap n Q nglt bplt 1,ltguttlnpft2 h tp UU hun 55 000 I 55,00

315UM0 lnruu{nptlwh uwFpbl, h tlhllupwQwlt 1utrfi4bp 33515

31531 100 tlhQnpwQwtt lwdqhp UU hun il 00( 6 66,0(

31s31 100 fi h llnpw llut It luttlt4 bp UU hutn I 50( an 170,0(

31531 100 fubltunuhwlt twtqbn /]ed UU hutn 11 40( o 68,4(

31531 100 ElbQnpuQtutt lut[qbp /led UU huu I 25(, 1) 18,73

31587100 2n uut ttplt lutp (utn qalw tr + up qu4nFITl UU hwn 4 00( 12,0(

322UMo0 Out4fuhhnwlunu&hplz, mt4ltnhhnwqlrphhpl, riut4lnhbnalzlwQdwtt It hhnntuuwuhuwnPlutt h
uwnowtJnnnullthn

1023(

32251300 GSMhhnwJunutthp UU hwu 179U 2 35.8(

32251300 ?SM hhnwfunuLhp UU hun I1 50( I I1,5(

32231700 tlugluhhp UU hwtn 15 000 60,0(

324@000 9ultgtF 212,5(

3241 1160 9 u tt gtult It hgan u7 u q tl2tt hp UU hwu 26 20( I 26,2(

3241 1 1 60 gulltlt putduthlty UU hwu 12 00t J 60,0(

3241 I 150 9w hgnallt It hp pnquqtlz2h bp UU hu.tu 11 70( 5 58.51

3241 Il60 5 w lt gutlt It hppn qw qEl4lt hp UU hutu 22 604 3 67,81

441M000 llz lttrputpwllutlt |ryntphp b hupu $ltg utpuw4ltw hp I 871,5(

44163250 UJtnt QgJi2 /E n It t 11 uqtt udp ut g hn4 u utpp UU hun 6 504 2 13,01

441 I 1412 Lbnb, zhltununultuh 4c 1035 400 414,04

44111412 L b p 11, 2lt h u p w p ut 11 ut tt c2 Itq 1035 o)u 672,75

441 I 1412 Lhp Q, 2lt hutpwptuQ ut It s2 Itq 1035 50 51,75

44T T I417 t wfuwttLpQ Itq 1050 300 315,00

441 I t4I7 LuluutQbpQ Uq 900 250 225,00

441il200 ShtIbltu a2 qc OU 3000 180,00

383M0U) 2wtlztlutt qnptltphhp 45.00

38341 130 t1h Q np wQ uh 14 wp u [tnp hp]t 2tur/ttluth qnptlph hp UU hwu 8 506 2 17,00

38341 130 tlhQ uputlluttt tqutp uttlhup Lplt 2wrlrlut h qnptJryh hp UU hutu I 501 2 17,00

38341 130 tt tlt up wlt w tt t4utp w [h np hpf 2ut\h{ult qnptllplt hp UU hutn rr 00( I I 1,00

397M000 Vtlsnaryhlr uhfulth|ut 41475

39713432 cDnzbbnu /5(M {rn [utnqhn/ UU huttn 18 85( 15 282,75

39714100 o4wfufu1z2hhp UU hun 38U 7 26,60

3971 1270 thnnglthp UU huu 378U I 37,8(

3971 1310 $wooquifuh uuthhlthn UU hun I8 00( 3 54,0(

3971 1220 t1b Q npuQutt upthtlt tt L1t UU hwn 5 00( I 5,0(

39714100 Oawfufult2lthp UU hwn 4 60( I 4.6(

398M000 U-plrn4 lt tlzut11hghn4 awnurytwhp 1120i

39839300 AJtutQ d,lnLlt tlutplt hlnt huttfu.rp UU hutn 55U 5 27,5(

39831262 2h4nLQ otwnJz pw2luJz2 uwpp /4nquunp hutn 50( 5

398s1283 2u uut lllt yl ut galw It lutp UU hwu 100( t5 15,0(

39831281 Ut4wQlt fwppfw[t lutp UU hwu 122( I t,2.2

39831247 Ufu nuh wln4 hh4nt! uwbw ltgnLlglt h wtlutp /Ju uw[4nLp UA hwu 90( IJ t3,5(

3981 I 100 O4fi puprlugmglDlttp UU hwu 2q/ 5

39831240 Uuppn4 l4ntphp UU hwn 294 t0 2,94

39831284 tunutlllz tlutpplutt h L4nLQ /]u uut lynry urr hutn 2404 IJ 36,04

s9831281 Ut4wQlt ttutpptnlt pp UU hutu 28( 7 1,96

39831242 t4*Sph fu2h Ahnpn( yltuttutlnt hw[wp UU hutn 251 10 2,54

39831245 Otwn, hfunill UU hau 1804 7,24

302N000 tuttlutQutpg2ufiitt uwpp@npnulh hp L Qnryhp 996,50

30234640 51h2hlyn4nry1nilt 16GB UU huu 4 000 20 80,00

302371 13 rrn tt h Q nnp /Qgnp4 It t p/ UU hun 20 000 I 20,00

30216200 Uuqltltu wllwlt patpu hp Qutp4wgn4 uutpp hp UU hutu 5 600 5 28,0[

302371 13 VntthQwnp /Qgnp4ltfurt UU huu 50 200 t0,0[

30234640 5112 hl2n4nplntlt 16GB hun 4 000 50 200,0[

3023741 I UQ t$ Q h utlu llup q2ryl h, Tutpn tl UU hun I7 000 2 34,0(

302371 12 UhntgiluL ppll UU hun 3 50( 5 17,5(

30237240 2 u tlugw lgul/t tt n hu ufugltll It hp UU htuu 67U 10 620[

3021 I I 90 U ltd, ltw 11 w It h tutlw U up qrt2 h hp UU hwn 540 00( I 540,0(

4U300000 Uuln{u h hp, dtu w4ut1w3 hp h huput Qltg utp u ut41z w hph hV 492,8(

44322530 Uuln Llu qlt lt []t ugn L tlt hp UU huu 70( 10 7.0(

44322100 UutlnLJu hutulluVq2lt, WP cable 6leuel utl tlbup 10( 305 30.5(

4431 I 160 Utnq4uAn4hp UU 4q 40( I 3.2(

44311 160 Uhnw4wdu1Lp Itq 40( I 000 400,0(

4431 I 180 bnutbot[wlt lttnuabn /hn, UU Uq lUA 5 5,6(

44322220 trutntfu unLdh onbnnl, Itufuunturlwt Ithnph[ lnltnudrlwlt UA [hnn 654 50 32,5(

44322200 UuJnlu, [7 hllnpwQuL 1up UU rlbup 7 004 2 14,01

03100000 Ij 45,0



03121210 7w4Q rylttt Qn tqnqlryb ut h hp UU 4pwtI 45 0U l
4440&)m Quth utqult ryuuVuuuzJt utpuu4lt utltp lt hutputQlzg ut4tulryh bp 215,:

4441 I 752 aph rup UU hun 21 500 I 172,(

44423600 ul ln tlt dtu ut w tl h It h t n UU hwn 40( l0 4,1

4441 I 760 anryupwl$ p4p/ pnttuQ UU huu 2 30( 3 6,t

44441200 9 l4lt 11 u lnl wmt ltgpw 11 ut 1h hp UU hun 6 000 4 24,(

.14411742 Qn Lq wp w lt uQ n ltp]t d h4 ut ttlzq d UU huu 2800 3 8,4

425MM0 2nttutgilutlt It o4utfufutlutlt uutpphp 312,1

42521200 ns 11 h ltsaarylt It lllrywrlu It hn{huplt2h hp UU huu 3 900 80 312,0

3840il00 Shqllt wh ur h h u ult tr IfiZh btth u un 4tut It qnptlzph hp 213,5

3841 120O. ?hn{ututhhn UU hwu 2 204 50 I I0,L

3841 1200 Qtprlw2uttJthp UU hwu 59 904 I AO(

3841 1200 ahptw2urJthp UU hun 800 42 33.6

42100tu0 Uhfu utlt hlt utlt utlt tlt hnah utrh anuutnn tut It It oau wannt[u] h tlhp t hwh hn tfi,a
42r31220 OuQn4 fiutQttthhhp UU hutu 4 000 20 80,0

42141 170 vgnpghyLht UU hum 306 60 18,0

42141 170 Vonp4lt2tthp UU hun 30[ 60 18,(

42131 170 Qp ut1ft h hnup bp/t llupquntnpilItu ltuQuth It Lp UU hun I 40( 3 4,2

42121570 Antq hplt Q uI hh4nL8 Ithplz utrlputpA]z2tthplt dutuhp UU hwu 200u I 20,0

42121570 \n[w hn h lttu tI h bnnt 0 L hnh u [pu ndhlL hnh fiu u bn UU hwn 6AA 2 t2,0

42121570 'rln[r4 hp] QurI hh4ntQ IthpJt utrlputpAJt2h hpJt dutubv UU hwn 406 o 2,40

42121570 nn [r4 tplt Q urI h t4nLllh blzlt uttpwpAl4h hpl lw u hp UU hutu to/ 0,50

42121570 'r)nfi4 bpft QuI h t4ru11ttLfii utpuplfi2tt 17ft lwu tp UU hun tfr 3 0,40

42121570 0)nlr4 hplt l1u[ hh4nQ hhp] utrlputpdlt2lthpJt tlutubp UU hum 50( 4 2,00

42121570 Anfi4 hplt Qu.rrf hb4ntQ tthplt u.uIpupAlt2L hltlz tlut u h1t UU hwu 45 I0 0,45

42121570 nn[q tp] Quttl h h4nLQ lthplt wdpultdlz2hhp] [wuhp UU hun 5[ 20 r,0(

42121570 An[r4 hp ft llunI htantll It hplt wdputpdlz; It bp/t tlwu hp UU huu I( 8 0,08

42121570 a) n [q hplt 11 utt h h4nil1 lthplt u[pupAlrytthplt [wuhp UU hun I 30 0,04

42121570 'r) n [t4 tp lt 11 ut{ h b4nz 11 It bplz w rlpu.rpdfislt hplz [u u hp UU hwn I 40( I 14

42121s70 0 ndr4 bp lt llut rI h LantQ It bpJt urlputpdfts h hplt [uu bp UU hwu 2 50( I
22200000 I,p utgphp, phpphp, ulupphp utllwlt [u{nL1 It wrluwgV h1z 24,3

2221 1200 al w tnn lt ut lt u lt w lu ut o n h n UU hutn 4 sool I 4,8

22211200 0 u2nn ltu Qu It uttluuqp hp UU huu 3 50( T 3,5

2221 1200 8 u2 nn lt u Q ut h ut tlu u qp tp UU hun J )UL I 3,5

22211200 Qu2unhullult wtuuqpbp UU hun I 80( I 1,8

22211200 UU huu I 501 4 6,0

2221 1200 Q u2 nn It ut 11 tu h w tlu ut q I h p hun I 50( I
2221 1200 Su2nnLwQutlt utuuq2hp UU hwn 3 20( I
312M000 E1hlup utll u hnry1 w It putfu tluttt L (hV uhull lu It uupput{npnul[t h1z 1I 699,6

3121 1500 4 hplwp [wtt u uhlw ttutfi uQlptt hp UU hutn b 00( 45,0

31211500 4 hp1utpttu tt uuthrlut ttutrluQlryh bp /OA L-6/ c2 hutu 19 50( 18 35l,A

3121 1500 4 hn wn [w It u uh lw h w rhuthh tlthn/O't]L- I 0/ a) hutn 20 10(. 82 t 648,2

31221500 Sn w h u$n n [ut nn n hn u u ltph 25/6/ 92 hwu 940 00( I 940,0

31221500 Sn w ltugnn rlutmn hnuut hph /25/1 0/ s2 hutu 885 2U , I 770,4

3r21 1300 tmtntnwnnplthp 9]2 hutu 315 00( 5 355,4

3121 1300 VntnLuwunplthp hun 530 00( I 590,4

244(M000 'D upwpnu ltlnLphp lt uqn u]z rlltugnrylnthh hp 541,6

24451 141 Ufu nuhuhht hhnnth ltntBhn UU hun 950 100 95,4

24451 t4l Ufu n whu ltls h L4nQ I4n rybp hun 7 000 I 7,0

24451 141 U fu nuthu hlry h funt 11 hlntp Lp UU huw 800 100 80,0

24451 141 Ulu u uhu Il4 h h4nQ [4ntpLp UU hutn 600 I4 8,4

24451 141 Ulu nwhu ttf2 h h4ntl1 I4n ryhp UU hutn I 300 I 10,4

24451 150 Pppurllth P UU Uq 4 500 o 27,(,

24451 141 Ulunwhuthl2 h hqn Q Qn ryhp UU hutu 800 100 80,6

24451 141 U fu n uh w hltS h h4nLl1 t4n Lp hp UU hwu 800 100 80,(

24451 t4I U fu n uhut lt ft2 h b4n L I I4n Lp b p UU hutn 800 100 80,I

24451 141 U/u n uhut ttl4 h h4nLQ I4nLphlt UU hutn 736 t00 73,6

2441 1400 Uhnt2ut4fi1zJt ut4ltpn UU hutu 100 0,t

fir0(n00 Fd2Qullwlt uwpphp

33141 t29 'lztlutQ UU hwn 18( )U 9,(

33141 129 'lttull UU huu I2( 200 24,(

33141 129 }ltdutQ /20 UU hwu 55[ 9,4

33141 129 llttlutQ /10 UU hwu 1 121 I7 to /

33141 129 ,]hfintr/]0 UU htuu 2 25( 4 9,(

33141 129 lhrlult /10 UU hutn I 294 7 9,(

33141 129 }rttu!6 UU hwn r 894 17

33141 129 lhtlutlt /12 UU hutu 494 9 4,4

33141 129 ]htIuh D hutu I 554 7 I0,t

3314t 129 $ttwQ /1 UU hutn 354 140 4q/



33141 129 7h[wh UU hun 2A IO 2,A

33141 129 ]htlutlt /100 UU huu ZJ J,)

33141 129 aJt[u11 UU hutu 220 100 22,0

33141 129 ']ft{ul7 UU hun J/U 100 320

33141 129 fitutQ UU hwu 184 200 36,4

33141 129 '$rlw11 UU huttn 1/: 1000 175.4

3314r 129 'lttutQ UU hwu 85 1000 85,4

33141 159 Fdtltutltutlt lhnttnohtn, nt unhnh t UU qnqq 6A 40 2,4

33141 156 Pd2 Q w 11 ut It I hn ltng h Lp UU hwu I9 300 5,8

33141.156 M/lwQwtt d.hnhnghbp UU hwu 50 200 t0,0

3314115d Sd2QwQwtt dbnhngtttp UU hutn )U 400 20,(

331 41 155 Fd2Qafiult Ahnltnghhp UU hutu 100

33141 156 M2Qtull u It t hnltngh h1t UU hutu 40 500 2q6

33141129 lhtwh UU hun 1000 54.0

33141 129 aJt[u11 hutu JU 1000 50,0

33141 I 10 UU htuu 150 10

33141 I 15 ,Ihnuhuwtn UU huu 120 12 I4
33141 I I I Up.lnlt { hpghhlnt dur4wtt hlt uttlpwll ltbpnrt UU hwu 750 2,3

33141 131 4q2nilt ut4 h4ut ttJzh h1t UU hutu 5[ JZ 16

33121 180 UVlwlt trlt2tlutlt 2wtlttltult uwTp UU hwu 5 500 2 I I,(
33141129 1fi[u11 UU htuu 800 50 40,0

337N000 UItAtt ut h ut tt fu lturIglz t4 utpwqw It hp I 19,2

33731200 8 u tnw w ltht h w un ilt wlt ltnoh hn UU han 760 20 15,2

33751000 9ntqup ut lfi pntrya, nntp bnt hun 130 200 26,I

33761300 2 hnplt p4p h upplt2 lt h1t UU hwn 78[ 100 78,(

1810040 Uwultwghuuthutlt hu4nruu, hutnntb utquuthuqntun lt qu1zu qurhtn

I8I T I2OO U2fu un w bputlltll Un [ph tu hqn h UU hutu 98( 1J 12,74

18141 100 U2lu w n u hp qrt lt Mn ttngh Lp UU hwu 75(, 50 J/,JL

18141 100 Ufu u uu tryq| tt A bnltnglt bp UU hun 34( 15 5,1(

18111 100 Up u ut4put Q u tt h wunil1 hutqnruu UU hwu 5 50( 40 220,0(

l8r 1 I 100 U1t u urp u Q utt h um LQ hwqntun UU huu 5 50( 10 55,0(

1420004) Uqwq h |w,l 5,9[

1421 I 100 u|aq UU 5 00( 0,7

1421 I I r0 tvtupwp UU UJ 3 00( 0,8 2,4(

,4148M000 t'hnbhn, tutphn lt tutnduhhhn /tluunhbuthhnt 335,0(

44831500 [nttltslthp fttl finp 84( 3540 294,0(

44831501 tn6/t2lthp UU thup 84[ 540 42,0(

426M000 2uuunohhn F4,

42671 180 2hnplt qnptlzplthplt rlutuhp /fwhh UU hua 7U 4,0 2,8(

42671 180 2 bnplt qnp tlp It tplt [ut u Lp UU hwn 70( 40 2,8(

197MM0 Ultltphnlzll nbnlzlt lt rlutltputptl 84,24

19721100 UhLohu hlt rlut ltnwoh ho r utnut [t It hn UU rlhup 180 t00,0 18,0(

19721 100 U/thptnltS [uttpupfu ltg lutputltlthp UU [hnp 20, 32q0 66,24

168N000 cln n ut u It u tu u It ut lt u ut n pu ln nn ullt hn h It w lt u unw t h It u It u buntprut h du u tn 244(

1681 I 100 ?1n t4 w a It u b uw 11 w h u utppu{npnttllt bprt duu hp UU hwu 2 600 4,0 10,4(

1681 I 101 4lnt4unltnh uutQw It uutpput{npn Ltlt tpl [w u hp UU hwu 5 004 2,0 10,0(

188M000 Vn2lt4bh 5,0(

18811230 VluatJt nputttnp l1n2lt Q h hp UU gnLlg 5004 I 5,0(

39200000 Vwhu{npwltp 105,6(

39241250 \wn b p lt tlll p w n (u hQ u nnp) UU hwu ZJ)U I 2,35

39221460 {pd,ltlt hhpllwputputllutlt /|uttlth UU hutu 704 2,14

39221460 ,{ptlt tt It hp 11 tup utp tu 11 ut lt UU hutu 804 1[ 8,01

39221460 {pAfth hhpQwpultuQuttt UU hutn 304 IL 3,01

39221420 (vnqultuQlthp UA huu 504 tq/

39221420 (unqwhwQlttp /uluuhplt UU hwm 7 204 14,4(

39221420 TultuQhhp /qunh7, UU hwn I 450 I t,45

39221490 Uryniltqhhp UU hun 206 I( 2,00

39221460 4nd.h tt tt hn h anw n w It w tt hwu 2 206 t, 26,40

39221460 41t AJt tt tt hp Q w1t u4 ut Q ut tt UU hun I 65( 9,90

39221470 Iduu rqlwuurlutub UU hun I 00[ 12,00

39221290 Iahllr]tE UU hwu 7 50(' 22,50

395N000 Unupllutltbp |^plS 998,00

39531700 O14hqnpqbp UU hun I 506 4,50

39541 I 10 SwnwVhhn UU [tup 6)L I 00( 850,00

39541 I I0 't)wpwltlthp UU [hmp JUL 3A r5,00

39s4r I 10 't)utpwltlthp UU dbwp 70( t0 7.0(

39515440 O q 4 utA w1 wg 2 tp n u { utlt u qn ryp UU u 4 50( 27 r21,5(

frt600000 7 t4ugnpEu 11 ut h utp u ut4p ttt ltp 100,58

33691 147 @ntltul4n4ahp UU tJt-p 7 2 t4,0(



33691 147 (dniltuhptpLp /imidia UU ftuP 11 00( 22,0(,

33691 147 tdnLhwl4ntphp UU tJrutt 9 00( 2 18,0(

33591 147 Ifuttltu[tlntpbp UU iltnp 6 00( 2 12,0(

33691 I 47 ldniltuLtnuaLn UU t-hup 6 00( 0,5 3,04

33691147 Ianiltwltln4aLp UU thuq 5 00( 0,5 2,54

336312260 Us h u fu u u t hsh t ut p pnt, [w q I] hq hnttlh hlt4 p op ufu 801 AC30 UU hwu I7L 119

33621761 Utnw[-ltqn1 ( [tnwrfiqn1lr LwnpjnL[ N02BB02) hun 8( I t,36

33661 122 ( tt u 1 u t4 p lt 1 ( tlt u1w t41t14't [ut th w u ), hp4?np1np npl uq]t4 UU hwu 55( 11 6,05

33661 127 ffhttnpwppltnutl n03oo02 /, uptlwQnl UU hwu 175 0,76

33661 1 19 ?nn D08AG03 hwn 300 2,44

3362132F 4lwnwohnuttnt n02be07 hutn 80 20 1,60

33521320 Uhtitudlzq4 ( [hnutrlJzqnl ltunp,hnttl ), upJzugbmurlJz h 4-

n n t n r hhnnt r,$n ltniln NO2BB72

f frf hutu 780 IA z8(

33551 131 tnau{uJunn 4 h4 wunL, q uup} Iry 4 hqumt, u ltw ttntfu
...-,,,L^,,.,Lt. u^InEaAt / n-L^-,^,1 l,,,rr^rl"rLr^r^L 7q,fr /

UU hutw 200 5 1,0(

33521520 V wn I u/un n 4 h4 w nn L, q u nplz It2 4 L4 u m t, u It w hntfu
,"^",L^-"hh HNn<rM / l'...,h-l,rnnh nhtn

flff hun 110 0,44

33691235 P1npn qlzputrlltlt / R05AC03, D04AA09 hun 83( I 6,54

317M000 h hhunnhutrhtt, h hltupwrlhfuw hhhultw h It hhhup wubfu hhQwll wtt t4wp wqw It h1t 57e8('

31 71 1500 UJtfunhwtuQupgLlz UU hun b( 60,I 9.0(

3171 1500 U/zllpnhutwqupqtp UU hwu 3( 50.I I,8(

3171 1610 ']fiahLp UU hun 1A 350,I

sI71 I 170 Uhbnnuhuh bnh4httuurmnlthn / fffl hwu 4( 60.( 2,4(

317I I I 70 tlLQuputQtuh Qnl4LLuumphhp / UU hwu 5( 60,( 3,0(,

31711140 alttwapl2lthp UA hun 5 60,( 0,3(

31 71 I 14() ]htwtphttthp /I4n UU hutn 60,( 1,2(

3171 1 140 llttlunyz|2hhp UU httu 5A 50,( 3,0(

3171 I 140 Tlttlw4plrytthp \ UU hwu JU 120,( 3,64

317111 10 fi bQ npnh qltlt pua ualzl2h hp UU htuu 100 60,( 6,00

3171 I I 10 fi h Q nt n ltwllt It ptuaurpl4 h hp Ury httu t0t' 100,( 10,00

31 71 1500 Uhltnnhwtuhwnchn TL UU hun JU 50,( 2,50

3171 1500 UjfutnhutuSupqQt UU hun I)U 50,( 7,50

31 71 1500 Uffunhu[ullwpqbp UU hwu 106 15,( 1,50

3171 1500 UlfutnhufuQupqhp UU hwn 156 20,( 3,00

3171 I 170 hbhnnuhuh ltnttnLhuwmp[tLn / UU hun 3L 50,t 1,50

3171 I 170 HLbnnuhuth hnfuhltuuunplthp / UU hwu 5( 50,0 2Ff

31 71 I 170 tlbQnVuQwlt Qntt4hltuuturytlthp / UU hwn IU 50,0 5,0(

3171 I 170 hbltnnwltutlt hnlt4bltuutnnphbp / UU hutn 10( 50,I 5,0(

31 71 1500 Uhhnnhwtlultaryqbn UU hutu 80( 60,0 48,0(

317115U) UltllpnhufwQwpqhp 04] UU hwu 66( 70,( 46,2(

3171 1500 LthQpnhwtwQutpqhp US UU hwn 29( 7a( 20,30

3171 1500 Ulfunnw[wQupqhp UU hutu <2/ 100,( 52,04

31711170 Uh\npultu| llnl4hhuuunplthp / UU hun 2: 120,( 3,04

3171 1 170 htltnnuthutb hntnhltuwunnhhn / UU hwu 2A 50,( 1,04

31711170 hLhunuthuth bnlnhltuutnntttn / UU hwu 20 50,( 1,00

31711170 tlhQnputQult Qnlt4hltuuunphhp / hutn JU 50,4 1,54

3171 I 140 ']htlunnhttthn BAS2I UU hun 30 100,( 3,00

3171 1710 gpmhqltunnplthp AOD UU hutu 250 50,4 12,50

31711710 SpuLqltumpttbp AOD UU hwu 400 50,4 20,0[

3171 1710 Snwltohumnhhn AOTF UU hutu 370 50,4 18,5[

3171 1710 Sputhqltumphhp UU hun t 28( 100,6
' 128,0(

31711710 Spulqltuunphhp UU hwn 6( 100,0 6,0(

31711710 gpuhqJtunnphbp 8&16 UU hwn 6( r00,( 6,0(

31 71 1 710 9pulryftuanphbp UU huu 2( 100,( 2,0(

31 71 1710 9pultqltunnpLhp UU hwn 100,( 2,0(

3171 I710 9pwhqltunnVlthp UU hwn 100,I 3,0(

31 7I I 160 futhunnnbhp UU 4c 3504 15

3t 71 I 160 Uhltmnnnlthn /4 UU 4q 5004 15 75,0(

3nN000 2 hnn ru n ut - b nu4fu g l4n L llt2lt tp L Awl h ut - Q ut rI u tu wqlt tut h

--,^^-.,1^-^,,ft L^
utt {UlurFuut4p,Irnh 4 40404

32341240 Otdbn wonLohtlthn UU hwn 700 00[ 4,( 2 800,00

32341240 OzdLnuaztohtlttn UU hwn 400 0u 4,1 I 600,00

35100000 II nu w h ut n a hn u I htrut b tt tnn uI b h n unlnn It w It rJ u u ltgn ww h tutpgtp I 125.0('

351 I 1240 t Ib tl n ut hqn ry1 ub wq urtn $u It u wtp tV
,UU hun 30 00( I,L 30,00

351 I I 130 Vpull*rpft1hbp [rA a) hutu 12 00( 8ZA I 044,00

351 I I 130 \nultttwnhthbn /qU c2 hwu 17 00(, 3.0 51,0(

241MoM 4wohn 3,5t

241 I I 180 Apduthlt UU tI3 175 20, 3.5(

19600000 hw'trlh, utounhh, nhuhhh It wtwuntuuuutth pw{tnltlttn 30,u

19642200 qa1 fi lBltl hltw 1lz It u 11 wp u ut4puhp UU 4c I 006 30,( 30,04

03100000 llJnt4tuuhnhuullut & L ryq hqnptullult uputtt4lzulp 25,4



03121210 Oq 4 ql It 4 n fqnqhgl u t] bp UU 4ptuI 25 0001 I 25,A
15900000 An4 hllplr hF, bJuulunu Ir hutFultlg uFuu4ltulp 5,54
1591 I 100 uqJrpn UU finp I 10( 5
316tu0(n Elhllulzulluth uupphF lt urytput{rynLthhF 8400
31681 140 tfi 4 npu 4 ut It f u4 u4tzlt It tp UU hwn 84 00( T 84,(
429M000 ?It4huthnry h h uunill oguttqnpttuth qw hutqut h rfhphhtlh b1t 45,00
42951280 lJtuulhltubplthp UU hwn 15 000 3 45,0
1950@00 Vunqnil1 b t41w uu tlta u uw 4,54
1951 1700 UU tlhnp 1)U 30
42400000 UdpupdJz2 It uh4ufuJm4 uupphlt L 4puthg dutuhp 2,8(
424sT100 2 hllu{up du It luhu LuQ b tV UU' huu 2 80( I
358m000 ULhuuwllwh L oduth4wll uutltptp /hutqnruu,/ 572,0(
3581 I I 70 ?utluqqbun UU gzulluqI 4 500 16 72,I
3581 I I 70 2u[utqghuu UU llzuQuqI 50 000 2 100.(,
3581 r I 71 2wtuqqbuu UU puQuqd 200 001 2 400,a

4p utu bltlu l1rylzh [t bphut It tp, uutpput tlnlnzdL
n qfult tplt It ltuthnryplz

t0t9212t 9?/t2 qtt4hQuqnp UU htun 6( 200 12,(
30192131 UhJu ut ItJz ll u8 uth llud q{u1 rlutwJt u It hp url" hwu 5( 50 3,1
30197235 rAryauqultuQ wtlpuQn{ UU hwu 42[ 200 84,0

h ltplt u Q nlln zfi pnsyT 44 UU hun )) 500

82 856,8t
452mM0 cbh/ ?Elrlz, Ztanrplnzaa EFI| lutu nlztultg fiau hVlt llwnnryrfu It w2lu uutu bp hht l 7 121,5i
45261 124 S u I4p lt tpi 4 bp ut tryzng [. u L wfu w n w hp L bp s2 4Fa[ 2 419 06( I 2 41 9,0c
45251 124 Sw lthplt bh 4 hp w |tnpngfu! h utfu ut uut |tp It Lp 9.2 4pwrI 4 402 471 I 4 402.4'
45231 136 Odw'fuwQ ufu wnw [ryL bp hnuw \tpuqhhpft h urlwp 2UU 4PaI 300 00( I 300,0(
454(D000 I 74 892,34
45461 100 th uphph, 2lllnLpln LIllr tFJt pltputghll Inpnqtu tt w2luw uuhph bp a) 4llwtI I 300 760 I I30A76
45451 100 Ch ltphi, Zhlnry1niltL fufi pl4autgjtll ttnpnq[wlt ufu utuutltptt hp 4purI 12 600 10A I 12 600.10
45421 115 OuttQ L1$ nL4u4lttIwlt ufu u uwttplt hp wwI 33 873 54( I 33 873,54

45441 150/2 2a 4u |mnqJzn lt SuttllnqV/ IlJzp unfitfi u2/u uu u ltp b tp a2 qpuid 20 117 94( I 20 117,94
451U000

9ao(
451 I 1240 Uu1 u [n h n udfw It ufu u n u hpfu bp UU 4Izud 250001 I 25,0(
451 I 1240 U ul u tln tt n ud{m h u21u ut uu hp h hp UU IFUtI 68 00( I 68,01
45300000 CJzhup wpu ltwh [n &u utdtrylz lt wzluutuu hph h1z 75000
4531 I 146 uil tt bqnq attwtt dnil n utduth lt u2/uunutltplt hp UU nnuI 350 00a I 350,0a
4531 1 147 Ult hhll np uh uh ln h uudtufi h ufu utuut tryL hV UU 4Pw[ 4A 004 T 400,0(

I 293 860,0c
7241 I 100 luttugzt hgtry]z h tutnuln tplnfi h tp tIu nnryn7h hV (sp) UU 4PwI 960 00( I 960,0(
642M000 ? hnuhu4nF4utllgtlu h tunqntplnfi L hp 126 500,0(
6421 1250 Up f u IIU 4 ulh It 11 utt4Jt tlutpAullu1n tplub hunryntp1nft h t p an) 4FwrI 120 000 001 I t20 000,0(
6421 1 120 Ulppu4wputl h h h nulun u q/t h tmqntpln Lh h h7 4PuI 6 000 000 I 6 000,0(
642118A tr22 ultlt h Lnufun u h tpl tinalnLpln Lh L Qz UU 4FwI 500 000 I 500,0(
09310000 Eltllryzulluthntplnth UU 4IruI 108 000 0m I 108 0M,0a
4114)000 lluth 2nryz UU ll7urf 1 I'.UI 00( I 148,00
41 I 10000 CVulblnt 2n4z UU 4putI I 000 00( | 000,0(
41 100000 PItuQwtt2nry UU 4putI 148 00( T 148,0(
6521 1 100 9uql pwfunul UA 4IrutI 7@0 00( 7 000,0[
56100000 Fa h l1u4lz It It It hp41n ilqJt h bunuln tplnth h tp I 995,6(
661 I 1200 Pu h It ullt It tww|n tFln t It h tp UU 4PuIil I 920 00[ I I 920,00
661 1 1300 'I h ulnql u u1f L bun qn Lp1ntu h tp UTI 4FutI 75 604 I 75,60
90511150 Uaplz fuJu utalz fia h ttmryn tpln fi h hp UU 4ltutI 800 000 80q0(
90900000 I 195,0(
90921 100 Ulu n uh ut tt tw b fut 4 uFn UtL Qfi n2lryugtu It tunwlnqap ft h hp UU 4lutI 180 00( I 180,0(
90921 100 U/u nuhw ltfult tlul] upn Utlt hpi n2!4ugtIu h twnulntpln Lhlt b1t UU 4PAII I5 00( I 15,0(
64100000 Onunulh It It unThu h+utllulhL tunqntplnth& hp 700.0i
64121200 rDn u n u4h L unup fu It t wnry n ry1n fu lt hp UU 4laI 450 000 I 450,0[
64121200 On u u uJh h w up lw h 3 m qn qap L It b bV UU 4Put 200 000 I 200,0(
54121200 @numuli It unwp{ut[t trynrynryapfi h tp /(tr.] tlzuuuu4a4latp,t UU 4purI s0 033 I 30,03
64121200 Qnu u w/tlt tnuptta h tunuln ry1nh h bp /IlA {tutun wp4 php/ UU 4luuI v )/: 9,58
64121200 Onum qlt It unutp [w It \unw1n tlapLLtt tp //tr,] rh uu u utpn B hn/ UU lIFurI 10 45t I 10.46
72300000 Sllu ltt hzlz h hn II utt4 tlutt bunrynrylnfi h tp 18 534,0(
723 I 1240 S (1 utllt hplt fuJuw ttgtu h tunulnLpln ilt 4Puru 12 000 00( I 12 000,01
7231 1240 \tll wilt blh *nlu w ltgtw It t wn ryn tp1 n t h 4IzwtI 6 534 00( I 6 534,0(
501M000 ut hnpngtut It, q uh q w h [ut It 4ltuthg 5 000,00
50111170 U 4 nnJhp t h u lt hpJt q wh q u L fia h \unqnLpln Lb h h1t 4putd 700 00( I 700,00
501 I I 170 U{un [tp t ttw It bp/t t4 utAqut tt tlut tt tunutlnLlap ilt L hp 4pwtf 2 000 00a I 2 000,00
501 I I 170 U{un[Lp h ltw It hplt u] uth tqut |tdut h tunuln t1a1nfi h bp 92 4purI I 000 00a I I 000,0a
50111170 U4 m {tp h lt utlt bpJt t4 tah q u It &a It 6mu1n Lp1nfi L tp g2 4puitI r 300 00a I I 300.0(



637m000 Odult4utQ tunryntplnilttthp gutupuq|\2putlJth It o4tulzL |znJuut4ptulhpnghhpl, 1 6822(
63721 180 Lw (Jz q wgln It 6wnu1n tp1nilt tt bp q.2 utlhu 140 60( 12 I 687.2(

50700000 Chhptpnil ut4ullulttutt uupphpJz tthVutlnpnq[w& It t4utht4utL[uth tunu4ntplnthlthp 1 86400
50751 100 ,{hp LTutQ ltbplt ( Lputltnpnq{ult lt q uh ulut tulwlt utllu 65 00[ 12 780,00

50751 100 ,{LV tpl1 lthVl {hputqznq[wlt L q uhq utLtluttt s2 ulhu 90 000 I 080,00

70200000 Uhd.huQailt utlt2upd qntlpJt tlwpAutQulnrylutt 4u[ iltqlthql, t itnqarylnthhtp 3 510,00
70221 100 n2 p h u 11 h fi u lt2 up d qn qpl I wpAu Q u4n Lp1 w h Q u [ fi qi tt qJ, UU 4Pu{ 3 5r0 00a I 3 510,00

665miln Uquhn{uqptuth It 11 th u wp2ut 11 utth It bunwlntptnilt h hn I 042,00
6651 I 170 Onfuu4putlJt2nglt hpJt. h hu l1w q{utt u t4whnt/u qp wllut tt UU 4ru[ 965 006 I 965.00
66511 1 70 Afuuputllt2nglt hllt hh n Q w q {wt u qwhn (u4p alw lt UU 4I1utI 20 000 I 20,06

6651 1 170 Onlu ut4put/tgnolthnh hhn 0 uttutlutt u tu uhntlwon whwtt UU 4Pat 19 004 T 19,0(

6651 I I 70 An/u ut4putdhgnglr tp lz h hn 11 u t4t/tut una uhnhaqn whu tt UU nnutl 19 004 I 19,01

6651 I I 70 Anlu uuyt w tlltpnglt hplt h tu 11 ur4r/wt w t4 uthnlu1p wl1 w It UU 4pwrI r9 004 19,0(

716ffi04) SbfuhlzQwllutlt {znpAutpQtlutlt, tthpnttntplutlt L funphp4utn{ntptwh bunuttntptnLhlttn I I 1486
71631 I l0 UutppLpJt urntq[ult tunu4ntplntltttbp UU 4ltwI 26 40A I 25.4(
71 631 I r0 Uwpphplt u un 4 [uttt tmuln Lplniltlthp UU 4Fw[ 70 004 l 70,0(

71631110 Uultp hltf u nnry [ut tt hunu4nqapLlttthp UA nnurl 5 280 I 5,2t
71631 I I0 Uupp hpJt utmtqdu It Eunulnqapilt lt bp UU 4pwtI 132U I 13,2(

50300000 UhAItuQwtt hutdwllupqlUhU(rtr, qpuuhhlullulltlt uwpphlzlzh, hhnuhut4np4uillgtutt L 500,0(,

50311120 lwttwQupqS qlzlt u unphnh 4 hnwlnnnc [wl] lt ruuthwult tlu tt UU nnut 500 00( I 500,0(
79800000 Squqlzwllu h lt 4pwtr wnbrln4 twnwln tB1nilt hhlt 355,0(
79821 170 5 14 wqp ut Q ut It It unwp[w It bun qnqapLltlthp UU hwn 8( 500 40,0(
79821 I 70 SuluqputQutlt It wnuptu[t tunu4nqapiltlthp hwm 500 35,0(
79821 I 70 Styuqp u 

Q 
tu lt L wnup[uL twnu4nqapilt lt h1t UU hwn 9( 300 27,0(

79821 I 70 Sq uqpuQ u It lt unwpttu It 6un qnqap ilt[t bp UU hutm 3 50( 40 140,0(

79821 I 70 9r4utqpullult h unupdutlt tunu4nqapiltlt bp UU hutu 3 500 IO 35,0[

79821 170 9u1 wqp u Qa h lt unup[w It twn u4n tplnLlt h hp UU hun I 800 IO 18,0[

7981 1100 Dtluft It u u1 uqpn Lpltult 6utn ulnqap ilt It hp UU huu I 500 20 30,00

7981 I 100 rafiullt lt u q uqTn tpJw lt tunu p LBtn Lh h b n UU hutu I 000 20 20.00
7981 I 100 @rtutllt It u u1 uqlzntpl ut It tunwln qap L It tt bp

/ noontth lt ott hn nn n n n h hn h lnt nn h h hn va n a*rfr /

UU hwn I 000 IO 10,00

506M000 Utt(uwltqnrylult It t4w2uqathnzplwtt Qnryhplz t/hpuhnpnqtwlt lt t4uht4uthtlwlt tunulntplnth 35,00

50611200 t+ 
ryQ twph2lt tpi { tp u[tgpw {ry fu L tunryn tpln thh hp UU htan 35 00( T 35,04

98300000 9tu It uqw h twnuln tplnth tt hp I 8M.0(
50500000 Antqhpfu Quttlznqphfulz,hnpwlltthpl It [hau4ulluh lnLufuhbphhp] L uulzphpJz {hVuthnVnq[uh tt 875,0(

50531140 An D l, up It tn uarut [t 3w u tnt otn L[t It t n UA nnuI 180 00( I 180.0(
50531 140 Q np A utp It lt n qapt lt b wn w1 n qap ilt tt t p UU 4putI 120 0a I 120,0(

50531 150 A wq ryf tt u utp hpJt u1 utA u1 w L ttw tt 3 un ryn tpln t h lt bp UU 4truttl 145 00( I 145.0(

50531200 fu h 11 up ul1 ut It uupp h n h, uwapwlnnn Lth L n h I h n w tn nna [w h tt UA nnuI 180 00(. I t80,04
50531200 t1h11 ryzwlluth uupphp/t, uwppu lnpnulbbph 4bp wttnpnqtuh L UU 4tttutt 250 00( I 250.0(
713N000 Fhdhh hp ul1 uttt tunqntpln ilt tt t1t I I 939,6t
71351540 S bJu ttrtQuQa It huQn4nqapt lt ktnwln qapilt lt hp a) 4puiI 402 36( I 402,36

71351540 S hfu llz 11 u Qw tt h u Qn4ntpl ult tunulnqap ilt lt bp c2 4purI 677 472 I 677,4i
71351540 S Lfu llt Q w 

Q 
u It h uQnyn Lplut lt Smqn ry1n ilt h hp 4PUU 160 125 I 160,1i

71351540 S hfu I$QwQw h h u Qn4nqalu [t tunqntplntlt It tp 4Pa[ 243 072 I 243,0'

71351540 S hfu ltltQ w8 wtt h u lln4ntpluttt t unqnqapLlt h Lp qFuI 46 666 T 46,6i
71351540 9bfu t$ Q uQ u lt h uQn4n Lp1 u lt tmryntp.1n tlt lt hp 4PuI 84 924 I 84,91

7t3s1380 U h1ufi 11 Sutn u4n qzln L It 4Iiurd 125 00( I 125,0(

71351380 UfuuQzll Emu4ntplnilt 4prxtt 45 006 I 45,00

71351380 Ufuurlftl1 tanrynqapilt s2 4Fat t55 0u I 155,00

981M000 Uh4wtutllgntplwlt ttpu hrtft{wt llwqtullhpqntplnthhhplt tfiw hJztlttlub !utqtutllhpqnrylnt&hhplt lln4rlltg
lw un toln n tatnut n t otn L lt lt hn

363,68

98t I I 140 2 hqJt tt u Q u/r L h u Q u1n Lp1 u [t 6 wn qn tpln L It lt hp

/bn29 nuthhp
UU 4pwII 203 244 I 203,24

98111lln hn h ltttt ltut th h hu ltmntwu It tmutnmnnilt It hn UU 4Futd 150 446 I t60,44
796M0A) Ufu w uut Lltglt tpi hwdwllz [ult tunqntplnfi & hp 155,00

79531200 Ufu uuwQfigh bpl tt hp wtqutnpuunttuttt bunutlnqapLlt It bp

QbpbluQ, Qtqauu/

UU 4putI 25 004 I 25,06

79631200 U2luut n wQlglt tVlt t/ hp ut u1 w up u u n tw tt ttunryntpln ilt lt h1z

tU u lut1ut It h hp +'1. Fu4uZ u U
UU 4Fat 20 004 2 40,0(

79631200 Ufu uznu lfi gh Lplt { bp utr4 uup u u n fwlt tunryn Lpln L[t lt hp
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